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int sz|[MAXN|,mson/MAXN|,tot sz,root,root sz;
bool vis[MAXN];
void query(int u);/0010
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void find root(int u,int fa
szlul=1;mson[ul=0;
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
vis|v|||v==fa
;
find root(v,u);
szlul+=sz[v];
mson[ul/=max(mson|ul,sz[v]);

mson|u/=max(mson|u|,tot sz-szlul);
mson/u/<root sz
root=u;
root sz=mson|u!;

void solve(int u
int cur_sz=tot sz;
vis|/u|=true;query(u);
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
vis|v
;
tot sz=sz|vi/>szlul?cur_sz-sz|ul:sz|v|;root sz=inf;
find root(v,u);
solve(root);
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#include <cstdio>
#include <cctype>
#include <vector>
#define for(i,a,b) for(int i=(a);i<(b);++1)
using namespace std;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c)){sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

const int MAXN=1le4+5,inf=1e7+5;
struct Edge
int to,w,next;
edge  MAXN<<1];
int n,edge cnt,head|[MAXN];
int m,q[MAXN/;
int sz|MAXN|,mson/MAXN|,6 tot sz,root,root sz;
int dis[MAXN];
vector<int> d,sd;
bool vis|[MAXN|,mark|[inf]|,ok|[MAXN;
void Insert(int u,int v,int w
edge|++edge cnt].to=v;
edgeledge cnt].w=w;
edge|edge cnt].next=head|u!;
head|u/=edge cnt;

void find root(int u,int fa
szlul=1;mson|ul=0;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
vis|[v]||v==fa
;
find root(v,u);
szlul+=sz|v];
mson|u|=max(msoniul,sz(v]|);

mson|u/=max(mson|u|,tot sz-szlul);
mson|u|<root sz
root=u;
root sz=mson(u/;

void dfs(int u,int fa
d.push back(dis[ul);
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int i=head(u];i;i=edge[i].next
int v=edge([1i].to;

visiv|||v==fa
dis|/v/=dis/ul/+edge|i].w;
dfs(v,u);

void query(int u

sd.clear();
mark =true;
int i=head(u];i;i=edge[i].next
d.clear();
int v=edgeli].to;
vis|v

’

dis|v/=edgeli].w;

dfs(v,u);
_for(j,0,d.size
_for(k,0,m

gl kl>=dl]j

okl k! |=mark[qlk]|-d[j!];

_for(j,0,d.size
d jl<inf
mark(d|[j ! |=true;
sd.push _back(d[j]);

_for(i,0,sd.size
mark[sd[i]| | =false;

void solve(int u
int cur_sz=tot sz;
vis|/u|=true;query(u);
int i=head|u;i;i=edge!i].next
int v=edgel[i].to;
vis|v
;
tot sz=sz|vi/>szlul?cur_sz-sz|ul:sz|v|;root sz=inf;
find root(v,u);
solve(root);

int main

n=read int(),m=read int();
int u,v,w;
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_for(i,1,n
u=read int()-1,v=read int()-1,w=read int();
Insert(u,v,w);
Insert(v,u,w);

_for(i,0,m
qlil=read int();
root sz=inf;

tot sz=n;

find root(0,-1);
solve(root);

_for(i,0,m
okl[i
puts("AYE");
puts ("NAY");
0?2
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#include <cstdio>
#include <cctype>
#include <vector>
#define for(i,a,b) for(int i=(a);i<(b);++1)
using namespace std;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

const int MAXN=2e5+5,inf=1e6+5;
struct Edge
int to,w,next;
edge [MAXN<<1];
int n,edge cnt,head|[MAXN];
int sz[MAXN|,mson/MAXN|,tot sz, root,root sz;
int dis1[MAXN|,dis2[MAXN]|,mark inf|,q,ans=MAXN;
vector<pair<int,int> > d,sd;
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bool vis|[MAXN];

void Insert(int u,int v,int w
edge|++edge cnt|.to=v;
edge/ edge cnt|.w=w;
edge|edge cnt].next=head/u!;
head|u!=edge cnt;

void find root(int u,int fa
szlul=1;msonlu ;
int i=head|u];i;i=edge/i].next
int v=edgel[i].to;
vis(v|||v==fa

;
find root(v,u);
szlul+=sz[v];
mson|ul/=max(mson|ul,sz[v]);

mson|u/=max(mson|u|,tot sz-szlul);
mson|ul/<root sz
root=u;
root sz=mson|u};

void dfs(int u,int fa
disl|ul>q
d.push back(make pair(disl|ul,dis2|u ;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
vis|v]||v==fa

disl|v]|=disl|ul/+edge[i].w;
dis2[v]=dis2[ul+1;
dfs(v,u);

void query(int u
mark =0;
sd.clear();
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
vis|v

d.clear();

disl|v|=edgeli].w,dis2[v]|=1;

dfs(v,u);

_for(j,0,d.size
ans=min(ans,d|j|.second+mark/q-d/j|.first
_for(j,0,d.size
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mark(d[j].first]=min(mark(d[j].first],d[j].second);
sd.push _back(d[j]);

_for(i,0,sd.size
mark[sd[i].first]=MAXN;

void solve(int u
int cur_sz=tot sz;
vis|/u|=true;query(u);
int i=head|u;i;i=edge!i].next
int v=edgel[i].to;
vis|v
;
tot sz=sz/v|>szlul|?cur _sz-sziul|:sz|v];root sz=MAXN;
find root(v,u);
solve(root);

int main

n=read int(),qg=read int();

int u,v,w;

_for(i,1,n
u=read _int(),v=read int(),w=read int();
Insert(u,v,w);
Insert(v,u,w);

_for(i,0,inf
mark/|i!=MAXN;
root sz=MAXN;
tot sz=n;
find root(0,-1);
solve(root);
ans==MAXN
puts("-1");

printf("%sd",ans);

’
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#include <cstdio>
#include <cctype>
#include <vector>
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#define for(i,a,b) for(int i=(a);i<(b);++1)
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigiti(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar();
sign?-t:t;

inline void write(LL X

register char c , Llen=0;

I'x putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len]=x%10,x/=10;
len)putchar(c|len-- |+ ;

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=1e5+5;
struct Edge

int to,next;
edge [ MAXN<<1];
int n,c[MAXN!,edge cnt,head|MAXN|;
int sz[MAXN|,msonMAXN|,tot sz, root,root sz;
LL sum,cnt[MAXN],col[MAXN],ans[MAXN],6 base, num;
bool vis[MAXN];
void Insert(int u,int v

edge|++edge cnt].to=v;

edge|edge cnt].next=head|u!;

head|u/=edge cnt;

void find root(int u,int fa
szlul=1;mson/ul=0;
int i=head|u];i;i=edge|i].next
int v=edgel[i].to;
vis|[v]||v==fa
’
find root(v,u);
szlul+=sz/v];
mson|/u/=max(mson|ul,szlv]);

mson|u/=max(mson|ul,tot sz-szlul);
mson|u!/<root sz
root=u;
root sz=mson|u};

void dfs(int u,int fa
szlul=1l,cnticlu] [++;
int i=head|u];i;i=edge/i].next
int v=edgel[i].to;
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vis|[v]||v==fa
dfs(v,u);
szlul+=sz/v];
cnticlul |== /0000000000000 0000000000O0OoOoOooOOoOO
sum+=sz/ul;
coliclul |+=szul;
cnticlull--;

void change(int u,int fa,int type
cnticlul |++;
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
vis(v|||v==fa

change(v,u,type);

cnticlul ==
sum+=sz|ul*type;
collclul |+=sz[ul*type;

cnticlull--;

void cal(int u,int fa
cnticlul [++;
cnticlul |== /0000000000000
sum-=col[clu]l;
num++;

ans | u/+=sum+base*num;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
vis(v|||v==fa
;

cal(v,u);

cnticlul |==
sum+=col[clul];
num- - ;

cnticlull--;

void clear(int u,int fa
col[c[u]]=0;
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
vis(v|||v==fa
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clear(v,u);

void query(int u
sum=num=0;dfs(u,-1);/00000000000
ans|/ul+=sum;

int i=head(u];i;i=edge[i].next
int v=edgeli].to;
vis|v
sum-=sz|v];coliclull-=sz[v];
cntfclul |++;change(v,u,-1);cnticlull--;/0 00000000
base=sz|ul-sziv];cal(v,u);
sum+=sz|v];coliclul +=sz|v];
cnticlul |++;change(v,u,l);cntclull--;

clear(u,-1);

void solve(int u
int cur sz=tot sz;
vis|/u|=true;query(u);
int i=head|ul;i;i=edge/i].next
int v=edgel[i].to;
vis|v
;
tot sz=sz|v|/>sz|u!?cur sz-sz|ul:sz|v|;root sz=MAXN;
find root(v,u);
solve(root);

int main

n=read _int();

_for(i,0,n

clil=read int();

int u,v,w;

_for(i,1,n
u=read int()-1,v=read int()-1;
Insert(u,v);
Insert(v,u);

root sz=MAXN;
tot sz=n;

find root(0,-1);
solve(root);
_for(i,0,n
enter(ans[i]);

?
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